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Three different machines

* BNL cluster

Linux SL4 (2.6.9-89.0.11.ELsmp)
Little Endian - 64x

* CERN desktop

Linux SLC4 (2.6.9-89.0.19.EL.cern)
Little Endian - 32x

®* CERN cluster

Linux SLCS (2.6.9-89.0.16.EL.cernsmp)
Little Endian — 64x

# 1n W yield at S0 m between CERN 32x & BNL 64x up to 10%
# 1n W yield at S0 m between CERN 64x & BNL 64x up to 7%

-> ask MARS developers about the origin of these discrepancies.



Muon yield distribution

50 runs with different starting seeds on CERN 32x computer:

| u* distribution 8 GeV — ST2 - 32x — SLC4 | HP

Entries 50

Mean 1.407e+04

Standard deviation

Underflow 0

oo ~2% of the yield.

| _p-distribution 8 GeV - ST2 - 32x - SLC4 | HM

Entrie 50
10 : Mean 1.532e+04
; RMS 3753

Underflow 0

Overflow 0
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'l What ROOT calls RMS is
a standard deviation:
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TO DO

®* What about the spread of distribution for CERN 64x and BNL
32x architectures ?
-> do we really want/need to check ?

* Check spread for other energy settings of the beam.
-> 1s 1t dependent on the beam energy ?

* Run the same test with ST2a field configuration.
-> do we have an increased yield for one configuration ?



